## CITY OF NEW BEDFORD

## APPLICATION FOR LAYING DRAIN

Application Nº 19521	Board of Health Permit No.			
	New Bedford, Mass., 12/6/72			
To the Mayor and City Council:  I hereby request that a drain be laid from	the premises of F.S. Followough			
New Bedford, Mass., 12/6/72  To the Mayor and City Council:  I hereby request that a drain be laid from the premises of 5. Softwarough  I hor = Soft Hathaway Rd.				
Jeong Journal Journal	Jan			
to connect with the sewer in Fraflia				
the same to be laid in the street and the surface.	ace repaired as directed by the Commissioner of Public			
I hereby agree to pay at the office of the the manner specified, in excess of the deposit the work.	City Treasurer all cost of performing the above work in made herewith, within 10 days after the completion of			
It is understood and agreed that the deposit made with this application shall be applied to the payment of the cost of performing the work done, and that any excess of deposit over the cost shall be returned to me by the City Treasurer.  Witness  Witness  Property owner				
12	To Halhoway Kd			
By	Address			
Requires separate entrance				
for roof water	Address			
Consent of Ov	wner of Private Drain			
To the Mayor and City Council:	New Bedford, Mass.,			
I hereby grant to				
the privilege of draining premises				
	ecting with sewer in			
	street.			
	Owner			
Estimate and Deposit Requirement				
	10/1/79			
office of Commissioner of Lubic Works,				
My estimate of the cost of laying the drain	described in the above application is			
Assessed	10/11			
Entrance charges Total deposit required				
George & Grightman				
	Commissioner of Public Works			
Certifi	the state of the s			
Certifi	icate of Issue			
	Office of City Clerk, 12/6/72			
The above application, accompanied by C	Office of City Clerk, 12/6/72  City Treasurer's receipt presented this day; whereupon			
The above application, accompanied by Companied by Compan	Office of City Clerk, 12/6/72  City Treasurer's receipt presented this day; whereupon d, and the Commissioner of Public Works notified of the			
The above application, accompanied by C	Office of City Clerk, 12/6/72  City Treasurer's receipt presented this day; whereupon d, and the Commissioner of Public Works notified of the			
The above application, accompanied by Companied by Companied No. 1952/www.was issued same.	Office of City Clerk, 12/6/72  City Treasurer's receipt presented this day; whereupon d, and the Commissioner of Public Works notified of the Ellen M. Laughan			
The above application, accompanied by Companied by Compan	Office of City Clerk, 12/6/72  City Treasurer's receipt presented this day; whereupon d, and the Commissioner of Public Works notified of the Ellen M. Laughan			
The above application, accompanied by Companied by Compan	Office of City Clerk, 12/6/72  City Treasurer's receipt presented this day; whereupon d, and the Commissioner of Public Works notified of the Ellen M. Laughan			



	Length of drain 28 Rilled 19/73
	Sewer depth pipe system
	Surf. drain
	Drain Permit Nº 19521  City of New Bedford,  Office of City Clerk,
	To Commissioner of Public Works.  Permission has this day been issued to  Learge Lemakes 270 Northaway Rd
	Property owner Address
	to lay drain from the premises of F.S. Followough Address, 100 '+
	Sof Nathaway Road
	to connect with the sewer in Froslerraugh street
V	Laid from main in street to iron pipe in property line Clen M. Saughan
DD)	transite pipe. City Clerk.
	Requires separate entrance for sewage and roof water
	I tarm drawn at this point.

NOTICE TO COMMISSIONER OF PUBLIC WORKS

## RETURN OF FOREMAN

RETURN OF FO	REMAN		
Entered Dec.	19		
Time D. P.M.	The second secon		
By Jesse M	Inoron		
COST			
Labor hours			
Jesse Tarres 6"	@ 3.75 \$22.50		
Joseph Highso &"	3.32 19.92		
Natest St. Core 6	3.32 19.92 3.10 18.54		
em conject 6	3.10 18.54		
Tort Park	3.60 21.63		
Oliver, D 3 "	3.75 11.25		
StockHoward, J 3	3.32 9.96		
Vs has Commenter	\$144.32		
100 lbs Sanda	.12cwt .12		
PROVIN 12 X3 B.T STAGE	te 280 39.20		
Den oliver o	1400		
Shoping John-Howard			
Trucking			
ords on 35-3-HR5 @6.55	19.65		
Trk. 67-1-HR, @3.00			
Comp. 52 - 1 - HR @3.35			
Total Cost	210.62		
Estimate-cost of laying drain	19/1-		
Entrance charges			
Total deposit	101/5/		
Balance due	1/7/6		
Pieces pipe to curb 2///	H.1-5-11		
" " curb to house 3) /	-1011 1-31t.		
Cut at sewer 5	1111 - FI		
Cut at curb 7 H			
Size of pipe 6 Turns	rito		
Size of pipe 6 Tvans Correct			
Confect	•		
Jose W. J.	was		
T	Foreman		